

()

minimax.

X

$$X^n = \{(x_1, x_2, \dots, x_n) \mid x_i \in X, i = 1, 2, \dots, n\}$$

n - X^n .

$$f_i(x_1, x_2, \dots, x_n), i = 1, 2, \dots, k$$

$x_1, x_2, x_3, \dots, x_n$

$x_1, x_2, x_3, \dots, x_n$ A

$$f_1(x_1, x_2, \dots, x_n), \dots, f_k(x_1, x_2, \dots, x_n) \dots A = \max\{f_1(x_1, \dots, x_n), \dots, f_k(x_1, \dots, x_n)\}.$$

A ,

$x_1, x_2, x_3, \dots, x_n$,

$\min A$,

, . . .

$$\min_x \max_{f_i(x)} \{f_1(x_1, \dots, x_n), \dots, f_k(x_1, \dots, x_n)\}.$$

$$B = \min\{f_1(x_1, \dots, x_n), \dots, f_k(x_1, \dots, x_n)\}$$

B ,

$x_1, x_2, x_3, \dots, x_n$

$\max B$,

, . . .

$$\max_x \min_{f_i(x)} \{f_1(x_1, \dots, x_n), \dots, f_k(x_1, \dots, x_n)\}.$$

$$1. \quad \max_{0 \leq t \leq 1} \min\left\{\frac{2-t}{2}, \frac{t}{2-t}\right\}.$$

$$B = \min\left\{\frac{2-t}{2}, \frac{t}{2-t}\right\}. \quad t \in [0, 1] \quad B \geq 0.$$

$$B \leq \frac{2-t}{2} \quad B \leq \frac{t}{2-t}.$$

$$\frac{1}{B} \geq \frac{2}{2-t}, \quad B \leq \frac{t}{2-t} = \frac{t-2+2}{2-t} = \frac{2}{2-t} - 1 \leq \frac{1}{B} - 1. \quad t=0, B=0$$

$$B \leq \frac{1}{B} - 1$$

$$B^2 + B - 1 \leq 0$$

$$(B - \frac{\sqrt{5}-1}{2})(B + \frac{\sqrt{5}-1}{2}) \leq 0. \quad B > 0$$

$$B \leq \frac{\sqrt{5}-1}{2}, \quad B = \frac{2-t}{2} \dots$$

$$t = 3 - \sqrt{5} \quad B = \frac{t}{2-t} \dots \quad t = -2. \quad , t \in [0,1]$$

$$t \quad t = 3 - \sqrt{5} . \quad ,$$

$$\max_{0 \leq t \leq 1} \min \left\{ \frac{2-t}{2}, \frac{t}{2-t} \right\} = \frac{\sqrt{5}-1}{2} . \blacklozenge$$

2. $S \quad a+b+c, b+c+d, c+d+e,$

$d+e+f, e+f+g \quad a, b, c, d, e, f, g$

$$a+b+c+d+e+f+g=1. \quad (*)$$

$S.$

$S = \max\{a+b+c, b+c+d, c+d+e, d+e+f, e+f+g\} -$

$$a+b+c \leq S \quad (1)$$

$$b+c+d \leq S \quad (2)$$

$$c+d+e \leq S \quad (3)$$

$$d+e+f \leq S \quad (4)$$

$$e+f+g \leq S \quad (5)$$

$$(1) \quad (5) \quad a+b+c+e+f+g \leq 2S, \quad (*)$$

$$1-d \leq 2S \quad \dots \quad d \geq 1-2S. \quad , \quad (2) \quad (5) \quad a \geq 1-2S. \quad , \quad (1)$$

$$(2) \quad 2S \geq a+d+2(b+c) \geq a+d \geq 2-4S \quad S \geq \frac{1}{3}.$$

$$a = \frac{1}{3}, b = 0, c = 0, d = \frac{1}{3}, e = 0, f = 0, g = \frac{1}{3}. \blacklozenge$$

3. $x, y, z \quad [0,1].$

$u \quad v$

$$x + \sqrt{1-y^2}, y + \sqrt{1-z^2}, z + \sqrt{1-x^2},$$

- (i) v ?
(ii) u ?
(iii) x, y, z

$$x + y + z = 1? \quad (*)$$

$$x \in [0,1], \quad r \in [0, \frac{\pi}{2}] \quad x = \sin r .$$

$$x + \sqrt{1-x^2} = \sin r + \sqrt{1-\sin^2 r} = \sin r + \cos r = \sqrt{(\sin r + \cos r)^2} = \sqrt{1 + \sin 2r} .$$

$$r \in [0, \frac{\pi}{2}] \quad 1 \leq \sqrt{1 + \sin 2r} \leq \sqrt{2} ,$$

$$1 \leq x + \sqrt{1-x^2} \leq \sqrt{2} .$$

$$y \in [0,1] \quad z \in [0,1],$$

$$1 \leq y + \sqrt{1-y^2} \leq \sqrt{2} \quad 1 \leq z + \sqrt{1-z^2} \leq \sqrt{2} .$$

$$(i) \quad x + \sqrt{1-x^2} \geq 1, \quad y + \sqrt{1-y^2} \geq 1, \quad z + \sqrt{1-z^2} \geq 1$$

$$v \geq x + \sqrt{1-y^2}, \quad v \geq y + \sqrt{1-z^2}, \quad v \geq z + \sqrt{1-x^2}$$

$$3v \geq x + \sqrt{1-y^2} + y + \sqrt{1-z^2} + z + \sqrt{1-x^2} = (x + \sqrt{1-x^2}) + (y + \sqrt{1-y^2}) + (z + \sqrt{1-z^2}) \geq 3$$

$$v \geq 1 .$$

$$v = 1 \quad x = y = z = 0 \quad x = y = z = 1 .$$

(ii)

$$x + \sqrt{1-x^2} \leq \sqrt{2}, \quad y + \sqrt{1-y^2} \leq \sqrt{2}, \quad z + \sqrt{1-z^2} \leq \sqrt{2}$$

$$u \leq x + \sqrt{1-y^2}, \quad u \leq y + \sqrt{1-z^2}, \quad u \leq z + \sqrt{1-x^2}$$

$$3u \leq x + \sqrt{1-y^2} + y + \sqrt{1-z^2} + z + \sqrt{1-x^2} = (x + \sqrt{1-x^2}) + (y + \sqrt{1-y^2}) + (z + \sqrt{1-z^2}) \leq 3\sqrt{2}$$

$$u \leq \sqrt{2} .$$

$$u = \sqrt{2} \quad x = y = z = \frac{\sqrt{2}}{2} .$$

(iii)

$$x = \max\{x, y, z\}$$

$$a) \quad x \geq z \geq y, \quad x \geq \frac{1}{3}, y \leq \frac{1}{3}$$

$$x + \sqrt{1-y^2} \geq \frac{1}{3} + \sqrt{1-(\frac{1}{3})^2} = \frac{1+2\sqrt{2}}{3} .$$

$$v \geq x + \sqrt{1-y^2}, \quad v \geq \frac{1+2\sqrt{2}}{3} .$$

$$\begin{aligned}
b) \quad & x \geq y \geq z, y \geq \frac{1}{3}, \quad z \leq \frac{1}{3} \\
& v \geq y + \sqrt{1-z^2} \geq \frac{1}{3} + \sqrt{1-\left(\frac{1}{3}\right)^2} = \frac{1+2\sqrt{2}}{3}; \\
& x \geq y \geq z, y \leq \frac{1}{3}, \quad v \geq x + \sqrt{1-y^2} \geq \frac{1}{3} + \sqrt{1-\left(\frac{1}{3}\right)^2} = \frac{1+2\sqrt{2}}{3}. \\
& , \quad v \geq \frac{1+2\sqrt{2}}{3}, \quad x = y = z = \frac{1}{3}.
\end{aligned}$$

$$\frac{x+y+z}{3} \leq \sqrt{\frac{x^2+y^2+z^2}{3}} \quad (1)$$

x, y, z

$$\begin{aligned}
x \geq \frac{1}{3}, y \leq \frac{1}{3} \quad & x^2 + y^2 + z^2 \geq \left[\frac{\sqrt{3}}{3}(x+y+z)\right]^2 = \left(\frac{\sqrt{3}}{3}\right)^2 = \frac{1}{3} \quad \dots \\
& x^2 + y^2 + z^2 \geq \frac{1}{3} \quad (2)
\end{aligned}$$

$$(1) \quad \sqrt{1-x^2}, \sqrt{1-y^2}, \sqrt{1-z^2} \quad -$$

$$\sqrt{1-x^2} + \sqrt{1-y^2} + \sqrt{1-z^2} \leq \frac{3}{\sqrt{3}} \sqrt{1-x^2+1-y^2+1-z^2} = \sqrt{3} \sqrt{3-(x^2+y^2+z^2)} \quad (3)$$

(ii) (2) (3)

$$\begin{aligned}
3u \leq x+y+z + \sqrt{1-x^2} + \sqrt{1-y^2} + \sqrt{1-z^2} & \leq 1 + \sqrt{3} \sqrt{3-(x^2+y^2+z^2)} \leq 1 + \sqrt{3} \sqrt{3-\frac{1}{3}} = 1 + 2\sqrt{2} \\
u \leq \frac{1+2\sqrt{2}}{3}, \quad & x = y = z = \frac{1}{3}.
\end{aligned}$$

$$4. \quad a_i, i = 1, 2, \dots, 5 \quad \sum_{i=1}^5 a_i^2 = 1. \quad m \quad -$$

$$|a_i - a_j| \quad i, j \in \{1, 2, \dots, 5\}, i \neq j.$$

$$(i) \quad m ?$$

$$(ii) \quad (i) \quad a_i, i = 1, 2, \dots, 5$$

?

$$m = \min_{1 \leq j < i \leq 5} |a_i - a_j|.$$

(i)

$$a_5 \geq a_4 \geq a_3 \geq a_2 \geq a_1.$$

$$4m \leq (a_5 - a_4) + (a_4 - a_3) + (a_3 - a_2) + (a_2 - a_1) \quad \dots \quad 4m \leq a_5 - a_1.$$

$$2m \leq (a_4 - a_3) + (a_3 - a_2) \quad \dots \quad 2m \leq a_4 - a_2.$$

$$a_5 - a_1 \leq \frac{4}{\sqrt{10}}, a_4 - a_1 \leq \frac{2}{\sqrt{10}} \quad m \leq \frac{1}{\sqrt{10}}.$$

$$1 = \sum_{i=1}^5 a_i^2 \geq (a_1^2 + a_5^2) + (a_2^2 + a_4^2) \geq \frac{(|a_1| + |a_5|)^2}{2} + \frac{(|a_2| + |a_4|)^2}{2} \geq \frac{(a_5 - a_1)^2}{2} + \frac{(a_4 - a_2)^2}{2} > \frac{1}{2} \cdot \frac{16}{10} + \frac{1}{2} \cdot \frac{4}{10} = 1$$

$$, \quad m = \frac{1}{\sqrt{10}} \quad -$$

$$a_1 = -\frac{2}{\sqrt{10}}, a_2 = -\frac{1}{\sqrt{10}}, a_3 = 0, a_4 = \frac{1}{\sqrt{10}}, a_5 = \frac{2}{\sqrt{10}}.$$

$$(ii) \quad a_5 \geq a_4 \geq a_3 \geq a_2 \geq a_1 \quad 4m \leq a_5 - a_1, \quad 3m \leq a_4 - a_1, \\ 2m \leq a_3 - a_1 \quad m \leq a_2 - a_1. \quad a_5 - a_1 \leq \frac{4}{\sqrt{30}},$$

$$a_4 - a_1 \leq \frac{3}{\sqrt{30}}, \quad a_3 - a_1 \leq \frac{2}{\sqrt{30}} \quad a_2 - a_1 \leq \frac{1}{\sqrt{30}} \quad m \leq \frac{1}{\sqrt{30}}. \quad a_2 - a_1 \leq \frac{1}{\sqrt{30}}.$$

$$a_5 > \frac{4}{\sqrt{30}} + a_1 \geq \frac{4}{\sqrt{30}} \quad a_4 > \frac{3}{\sqrt{30}}, \quad a_3 > \frac{2}{\sqrt{30}}, \quad a_2 > \frac{1}{\sqrt{30}}$$

$$1 \geq 1 - a_1^2 = a_5^2 + a_4^2 + a_3^2 + a_2^2 > \frac{16}{30} + \frac{9}{30} + \frac{4}{30} + \frac{1}{30} = 1 \quad -$$

$$a_1 = 0, a_2 = \frac{1}{\sqrt{30}}, a_3 = \frac{2}{\sqrt{30}}, a_4 = \frac{3}{\sqrt{30}}, a_5 = \frac{4}{\sqrt{30}}$$

m .

5.

$$x_1, x_2, x_3, x_4$$

$$\sum_{i=1}^4 x_i = 1.$$

s

$$\frac{x_1}{1+x_1}, \frac{x_2}{1+x_1+x_2}, \frac{x_3}{1+x_1+x_2+x_3}, \frac{x_4}{1+x_1+x_2+x_3+x_4}.$$

s ?

$$. \quad s \quad \frac{1}{s}$$

$$\frac{1+x_1}{x_1}, \frac{1+x_1+x_2}{x_2}, \frac{1+x_1+x_2+x_3}{x_3}, \frac{1+x_1+x_2+x_3+x_4}{x_4}. \quad \frac{1}{s} - 1 = \frac{1-s}{s}$$

$$\frac{1+x_1}{x_1} - 1 = \frac{1}{x_1}, \frac{1+x_1+x_2}{x_2} - 1 = \frac{1+x_1}{x_2}, \frac{1+x_1+x_2+x_3}{x_3} - 1 = \frac{1+x_1+x_2}{x_3}, \frac{1+x_1+x_2+x_3+x_4}{x_4} - 1 = \frac{1+x_1+x_2+x_3}{x_4};$$

$$\frac{s}{1-s} \quad x_1, \frac{x_2}{1+x_1}, \frac{x_3}{1+x_1+x_2}, \frac{x_4}{1+x_1+x_2+x_3}. \quad \frac{s}{1-s} + 1 = \frac{1}{1-s}$$

$$x_1 + 1, \frac{1+x_1+x_2}{1+x_1}, \frac{1+x_1+x_2+x_3}{1+x_1+x_2}, \frac{1+x_1+x_2+x_3+x_4}{1+x_1+x_2+x_3}.$$

$$(x_1 + 1) \frac{1+x_1+x_2}{1+x_1} \cdot \frac{1+x_1+x_2+x_3}{1+x_1+x_2} \cdot \frac{1+x_1+x_2+x_3+x_4}{1+x_1+x_2+x_3} = 1 + x_1 + x_2 + x_3 + x_4 = 2 \leq \left(\frac{1}{1-s}\right)^4,$$

$$\frac{1}{1-s} \geq \sqrt[4]{2} \quad s \geq 1 - \frac{1}{\sqrt[4]{2}}. \quad , \quad s = 1 - \frac{1}{\sqrt[4]{2}}$$

$$x_1 + 1 = \sqrt[4]{2}, \frac{1+x_1+x_2}{1+x_1} = \sqrt[4]{2}, \frac{1+x_1+x_2+x_3}{1+x_1+x_2} = \sqrt[4]{2}, \frac{1+x_1+x_2+x_3+x_4}{1+x_1+x_2+x_3} = \sqrt[4]{2},$$

$$\dots \quad x_1 = 1 - \sqrt[4]{2}, x_2 = \sqrt[4]{4} - \sqrt[4]{2}, x_3 = \sqrt[4]{8} - \sqrt[4]{4}, x_4 = 2 - \sqrt[4]{8} . \quad \blacklozenge$$

$$\mathbf{6.} \quad x_1, x_2, \dots, x_{10} \quad [0,1]$$

$$0 \quad 1.$$

$$: s_1 = x_1, s_2 = \frac{x_1+x_2}{2}, s_3 = \frac{x_1+x_2+x_3}{3}, \dots, s_{10} = \frac{x_1+x_2+\dots+x_{10}}{10} .$$

$$(i) \quad \max_{x_i} \{ \max_{i,j} |s_i - s_j| \}; \quad (ii) \quad \min_{x_i} \{ \max_{i,j} |s_i - s_j| \} .$$

$$\cdot (i) \quad i > 3 .$$

$$\begin{aligned} s_i - s_j &= \frac{x_1+x_2+\dots+x_i}{i} - \frac{x_1+x_2+\dots+x_j}{j} = \frac{j(x_1+x_2+\dots+x_j+x_{j+1}+\dots+x_i) - i(x_1+x_2+\dots+x_j)}{i \cdot j} \\ &= \frac{j(x_{j+1}+x_{j+2}+\dots+x_i) - (i-j)(x_1+x_2+\dots+x_j)}{i \cdot j} \leq \frac{j(1+1+\dots+1) - (i-j)(0+0+\dots+0)}{i \cdot j} \\ &= \frac{j(i-j)}{i \cdot j} = \frac{i-j}{i} = 1 - \frac{j}{i} \end{aligned}$$

$$s_j - s_i = \frac{(i-j)(x_1+x_2+\dots+x_j) - j(x_{j+1}+\dots+x_i)}{i \cdot j} \leq \frac{(i-j)(1+\dots+1) - j(0+\dots+0)}{i \cdot j} = \frac{j(i-j)}{i \cdot j} = \frac{i-j}{i} = 1 - \frac{j}{i} .$$

$$, |s_i - s_j| \leq 1 - \frac{j}{i} . \quad , \quad \frac{j}{i}, i, j \in \{1, 2, \dots, 10\}, \quad -$$

$$\frac{1}{10} \quad \dots \quad j=1, i=10, \quad \max_{i,j} |s_i - s_j| \leq 1 - \frac{1}{10} = \frac{9}{10} .$$

$$x_1 = 0, x_2 = x_3 = \dots = x_{10} = 1 \quad s_1 = 0, s_{10} = \frac{9}{10} .$$

$$(ii) \quad x_i = 0 \quad x_j = 1. \quad s_0 = 0, \quad i s_i - (i-1) s_{i-1} = x_i = 0$$

$$j s_j - (j-1) s_{j-1} = x_j = 1$$

$$|j s_j - (j-1) s_{j-1} - i s_i - (i-1) s_{i-1}| = 1 \quad (*)$$

$$A = \max_{i,j} |s_i - s_j|, \quad :$$

$$a) \quad j=10, i=9; (j=9, i=10) \quad (*) \quad :$$

$$1 = |10(s_{10} - s_9) - 8(s_9 - s_8)| \leq 10|s_{10} - s_9| + 8|s_9 - s_8| \leq 10A + 8A = 18A$$

$$A \geq \frac{1}{18} .$$

$$b) \quad j=10, i=8; (j=8, i=10) \quad (*) \quad :$$

$$1 = |10(s_{10} - s_9) + (s_9 - s_8) - 7(s_8 - s_7)| \leq 10|s_{10} - s_9| + |s_9 - s_8| + 7|s_8 - s_7| \\ \leq 10A + A + 7A = 18A$$

$$A \geq \frac{1}{18} .$$

$$c) \quad i+j \leq 17; i > 1, j > 1 \quad (*) \quad :$$

$$1 = \left| j(s_j - s_{j-1}) - i(s_i - s_{i-1}) + (s_{j-1} - s_{i-1}) \right|$$

$$\leq j|s_j - s_{j-1}| + i|s_i - s_{i-1}| + |s_{j-1} - s_{i-1}| \leq jA + iA + A \leq 18A$$

$$A \geq \frac{1}{18}.$$

d) $i = 1; (j = 1)$ (*) :

$$1 = \left| j(s_j - s_{j-1}) + (s_{j-1} - s_1) \right| \leq j|s_j - s_{j-1}| + |s_{j-1} - s_1| \leq jA + A = (j+1)A \leq 11A,$$

$$A \geq \frac{1}{11} > \frac{1}{18}.$$

$$, \quad A \geq \frac{1}{18},$$

$$x_1 = x_2 = \dots = x_8 = \frac{1}{2}; x_9 = 0; x_{10} = 1.$$

$$s_1 = s_2 = \dots = s_8 = \frac{1}{2}; s_9 = \frac{4}{9}; s_{10} = \frac{1}{2}. \blacklozenge$$

7. :

(i) $\min_{a,b,c} \max_{x \in [-1,1]} |x^2 + ax + b|$ (ii) $\min_{a,b,c} \max_{x \in [-1,1]} |x^3 + ax^2 + bx + c|$

:(i) $f(x) = x^2 + ax + b.$

$$2 = |1 + a + b + 1 - a + b - 2b| \leq |1 + a + b| + |1 - a + b| + 2|b| = |f(1)| + |f(-1)| + 2|f(0)|$$

$$: |f(1)| \geq \frac{1}{2}; |f(-1)| \geq \frac{1}{2}; |f(0)| \geq \frac{1}{2}.$$

$$, \quad \max_{x \in [-1,1]} |x^2 + ax + b| \geq \frac{1}{2}, \quad f(x) = x^2 - \frac{1}{2}$$

$$\dots \quad a = -\frac{1}{2}, b = 0.$$

(ii) $f(x) = x^3 + ax^2 + bx + c$ $M = \max_{x \in [-1,1]} |x^3 + ax^2 + bx + c|.$

$$\frac{3}{2} = \left| 2 + 2b - 2\left(\frac{1}{4} + b\right) \right| \leq |2 + 2b| + 2\left|\frac{1}{4} + b\right|$$

$$= \left| (1 + a + b + c) + (1 - a + b - c) \right| + 2\left| \left(\frac{1}{8} + \frac{a}{4} + \frac{b}{2} + c\right) - \left(-\frac{1}{8} + \frac{a}{4} - \frac{b}{2} + c\right) \right|$$

$$\leq |1 + a + b + c| + |1 - a + b - c| + 2\left|\frac{1}{8} + \frac{a}{4} + \frac{b}{2} + c\right| + 2\left|-\frac{1}{8} + \frac{a}{4} - \frac{b}{2} + c\right|$$

$$= |f(1)| + |f(-1)| + 2\left|f\left(\frac{1}{2}\right)\right| + 2\left|f\left(-\frac{1}{2}\right)\right| \leq M + M + 2M + 2M = 6M$$

$$, \quad M \geq \frac{1}{4} \quad a = 0, b = -\frac{3}{4}, c = 0 \quad \blacklozenge$$

8. $0 < s - r < f$

$$\min_{a,b} \max_{x \in [r,s]} |1 + a \cos x + b \sin x| = \operatorname{tg} \frac{2r-s}{4}.$$

!

$$\begin{aligned} & \cdot \quad \frac{|r-s|}{4} < \frac{f}{4}, \quad \operatorname{tg}^2 \frac{r-s}{4} < 1. \\ a=b=0 \quad & 1+a \cos x+b \sin x=1 > \operatorname{tg}^2 \frac{r-s}{4}. \end{aligned}$$

$$a^2+b^2 > 0.$$

$$1+a \cos x+b \sin x=1+\sqrt{a^2+b^2} \frac{a}{\sqrt{a^2+b^2}} \cos x+\sqrt{a^2+b^2} \frac{b}{\sqrt{a^2+b^2}} \sin x.$$

$$\cos \{ = \frac{a}{\sqrt{a^2+b^2}}, \sin \{ = \frac{b}{\sqrt{a^2+b^2}},$$

$$1+a \cos x+b \sin x=1+\sqrt{a^2+b^2}(\cos x \cos \{ + \sin x \sin \{)=1+\sqrt{a^2+b^2} \cos(x-\{).$$

$$M = \max_{x \in [r, s]} \left| 1+\sqrt{a^2+b^2} \cos(x-\{) \right|. \quad \sqrt{a^2+b^2} \cos\left(\frac{r+s}{2}-\{\right) \leq \frac{-2}{1+\cos \frac{r-s}{2}}$$

$$1+\sqrt{a^2+b^2} \cos\left(\frac{r+s}{2}-\{\right) \leq 1+\frac{-2}{1+\cos \frac{r-s}{2}} = \frac{-1+\cos \frac{r-s}{2}}{1+\cos \frac{r-s}{2}}$$

$$\left| 1+\sqrt{a^2+b^2} \cos\left(\frac{r+s}{2}-\{\right) \right| \geq \frac{1-\cos \frac{r-s}{2}}{1+\cos \frac{r-s}{2}} = \operatorname{tg}^2 \frac{r-s}{4}.$$

$$\sqrt{a^2+b^2} \cos\left(\frac{r+s}{2}-\{\right) > \frac{-2}{1+\cos \frac{r-s}{2}}.$$

$$\begin{aligned} \left| 1+\sqrt{a^2+b^2} \cos(r-\{) + 1+\sqrt{a^2+b^2} \cos(s-\{) \right| & \leq \\ & \leq \left| 1+\sqrt{a^2+b^2} \cos(r-\{) \right| + \left| 1+\sqrt{a^2+b^2} \cos(s-\{) \right| \leq 2M \end{aligned}$$

:

$$2+\sqrt{a^2+b^2}(\cos(r-\{) + \cos(s-\{)) = 2+2\sqrt{a^2+b^2} \cos\left(\frac{r+s}{2}-\{\right) \cos \frac{r-s}{2} >$$

$$> 2+2\sqrt{a^2+b^2} \cos\left(\frac{r+s}{2}-\{\right) > 2-\frac{4 \cos \frac{r-s}{2}}{1+\cos \frac{r-s}{2}} = \frac{2(1-\cos \frac{r-s}{2})}{1+\cos \frac{r-s}{2}} = 2 \operatorname{tg}^2 \frac{r-s}{4}$$

$$, 2M \geq 2 \operatorname{tg}^2 \frac{r-s}{4} \quad \dots \quad M \geq \operatorname{tg}^2 \frac{r-s}{4}.$$

$$, \quad r=f-\nu, s=f+\nu \quad 0 < \nu < \frac{f}{2}, \quad \frac{r+s}{2}=f, \frac{s-r}{2}=\nu$$

$$a = \frac{2}{1+\cos \nu}, b=0$$

$$\max_{x \in [r, s]} |1+a \cos x+b \sin x| = \max_{x \in [r, s]} \left| 1+\frac{2 \cos x}{1+\cos \nu} \right| = \operatorname{tg}^2 \frac{\nu}{2} = \operatorname{tg}^2 \frac{s-r}{4}.$$

$$x=r, x=f, x=s. \quad \blacklozenge$$

9. $\min_{z \in \mathbf{C}} \max\{|1+z|, |1+z^2|\}, \quad \mathbf{C}$

$$\max\{|1+z|^2, |1+z^2|^2\} = (\max\{|1+z|, |1+z^2|\})^2.$$

$$z = a + bi \quad A = |1+z|^2 = |1+a+bi|^2 = a^2 + b^2 + 2a + 1 = c + d + 2$$

$$B = |1+z^2|^2 = |1+a^2-b^2+2abi|^2 = (1+a^2-b^2)^2 + 4a^2b^2 = (a^2+b^2-1)^2 + 4a^2 = c^2 + d^2$$

$$c = a^2 + b^2 - 1, d = 2a. \quad C = \max\{A, B\} \geq 0$$

$$(1+c)C \geq B + A = c^2 + d^2 + c + d + 2 = (c + \frac{1}{2})^2 + (d + \frac{1}{2})^2 + 2 - \frac{1}{2} \geq 2 - \frac{1}{2}$$

$$C \geq \frac{4 - \frac{1}{2}}{2(1+c)}, \quad c = d = -\frac{1}{2} \quad A = B = \frac{4 - \frac{1}{2}}{2(1+c)}.$$

$$c = -\frac{1}{2} = \sqrt{5} - 1,$$

$$\frac{4 - \frac{1}{2}}{2(1+c)} = 3 - \sqrt{5}, a = \frac{1 - \sqrt{5}}{4}, b = \pm \frac{\sqrt{15} - \sqrt{3}}{4}.$$

$$\min_{z \in \mathbf{C}} \max\{|1+z|, |1+z^2|\} \geq \sqrt{3 - \sqrt{5}} = \frac{\sqrt{5} - 1}{\sqrt{2}},$$

$$z = \frac{\sqrt{5}-1}{2} (\cos 120^\circ \pm i \sin 120^\circ). \quad \blacklozenge$$

* * *

10. $(a_1, a_2, \dots, a_{1985}) \quad \{1, 2, \dots, 1985\}.$

$$a_k = k, \quad k = 1, 2, \dots, 1985$$

$$993^2.$$

$$ka_k, \quad k = 993, 994, \dots, 1985.$$

$$993, \quad k, (k \geq 993), a_k \geq 993. \quad k \quad ka_k \geq 993^2$$

$$a_1 = 1985, a_2 = 1984, \dots, a_{1985} = 1, \quad a_k = 1986 - k,$$

$$ka_k = k(1986 - k) \leq \left(\frac{k + 1986 - k}{2}\right)^2 = 993^2, \quad \blacklozenge$$

11.

$$0, 1, 2, \dots, 1024.$$

$$512$$

$$256$$

$$128$$

32
 32
 $2^5 = 32$
 $\{0,1,2,\dots,1023,1024\}$ 1024
 $.18 = 10010_2 = 0000010010_2$
 256
 1, 1024 (256
 0, 1024
 0
 256
 0 1 (1024),
 0.
 1024
 32. ♦

- .1.** $f(t) = \frac{2-t}{2} \quad g(t) = \frac{t}{2-t} \quad t \in [0,1].$
.2. $\max_{a,b,c,d,e,f,g} \min\{a+b+c, b+c+d, c+d+e, d+e+f, e+f+g\}.$
.3. $\max_{x,y,z \in \mathbf{R}} \min\{x^2 + y + z, x + y^2 + z, x + y + z^2\}.$
.4. $x + y + z = 1?$

. 5. $\{1, 2, \dots, 99, 100\}$, A , ,

. 6. A .
: 1, 2, ..., 20 . -
+ - (
). , ,
, , ?